BLACK HORSE
OFF ROAD

PREMIUM RUNNING BOARD BRACKET FOR HYUNDAI PALISADE 2021

INSTALLATION INSTRUCTIONS

PREMIUM RUNNING BOARD BRACKET FOR HYUNDAI PALISADE 2021

PART # BR-H4

Black Horse Off Road 39 St Mary’s Place Freeport NY 11520 Tel: 1(866) 926 2867 www.blackhorseoffroad.com




PREMIUM RUNNING BOARD BRACKET FOR HYUNDAI PALISADE 2021

Hex bolt (full thread) M6_30

Hex bolt (full thread) M8_30

NO. | QTY PICTURE NO. | QTY PICTURE NO. | QTY PICTURE
"\ O
N> N\
@ 2 @ P (o __,¥
-
Front bracket (L/R) Middle bracket (L/R) Rear bracket (L/R)
P T
~ N N
@) 2 2 el NI |o=
\—/ \.,.':.."I
Connect plate Hook bolt T Bolt M6x20
W) =
f{.-'{;}:?:__:\ f/)j(/"“"\-\.
@ 6 - h:? 6 \/ @ 8 5
T Bolt type 5 (M10x40 Hex
ype S ( M10 Plastic retainer Hex nut M10
Bolt)(60x16-15-5)(for ¢22-24 hole)
/ — 7o n,_‘ <o 1
8 , @] 8 \ @ | 18
Lock washer D10
Flat washer D10 (10x30x2.5mm) Flat washer D6 (6x22x2mm)
(. (. ) T,
S D= Sy
@ 2 () 2 | @ | 2 N

Flat washer D8 (8x24x2mm)

Black Horse Off Road 39 St Mary’s Place Freeport NY 11520 Tel: 1(866) 926 2867 www.blackhorseoffroad.com




PREMIUM RUNNING BOARD BRACKET FOR HYUNDAI PALISADE 2021

18 | ) | 16 2 \

Lock washer D8
Lock washer D6 Hex nut M6

Installation Figure:

(6712716717

{?/azgxlon I

Black Horse Off Road 39 St Mary’s Place Freeport NY 11520 Tel: 1(866) 926 2867 www.blackhorseoffroad.com




PREMIUM RUNNING BOARD BRACKET FOR HYUNDAI PALISADE 2021
Step 1: Verify all parts are present.

Step 2: Install the brackets and running board on the bottom of vehicle as above picture.

Step 3: Check the running board if it install correctly, then tighten all the hardware.
Step 4: Installation finished.

Black Horse Off Road 39 St Mary’s Place Freeport NY 11520 Tel: 1(866) 926 2867 www.blackhorseoffroad.com




